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ENHAHERE 39 57 -18 -31.6
SHEZRE 64 97 -33 -34
SMEERE 85 82 3 3.7
INEERE 17 20 -3 -15
SRt ERE 340 311 29 9.3
SNEERE 388 460 -72 -15.7 1487
IRHEZERE 101 135 -34 -25.2
SIAERE 61 65 -4 -6.2
AEERE 224 245 -21 -8.6
EREmE 32 37 -5 -13.5
—EERE 60 66 -6 -9.1
BEEFERE 63 76 -13 -17.1
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iﬁ\ﬁ\bﬁgﬁaE% 0 0 0 0
SHEZRE 1 3 -2 -66.7
SNEZERE 1 2 -1 -50
INGERE 1 0 1 -
SmitERE 2 2 0 0
SREERE 1 1 0 0 12
IRHEZERE 3 2 1 50
SMAERE 0 1 -1 -100
ABERE 1 3 -2 —66.7
BLEERE 1 1 0 0
—EERE 0 2 -2 -100
BEEFERE 0 1 -1 -100
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ib\b\bﬁi‘g% 59 69 -10 -145
SHTERE 100 133 -33 -24.8
ENEERE 98 96 2 2.1
INGTRE 18 22 -4 -18.2
SmitERE 407 379 28 7.4
ENEERE 471 574 -103 -17.9 1810
IRHERE 106 161 -55 -34.2
SRAERE 79 78 1 1.3
ABEERE 266 297 -31 -10.4
ELERE 39 46 -7 -15.2
—2ERE 67 77 -10 -13
BEFTERE 82 100 -18 -18




